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Equivalent Matrices &
Multiplication

Matrices are equlvalen'r if
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Solve for EACH variable. 20
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Using Matrices to Solve
Systems of Equations
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Multiplying Matrices Matrix Inverses
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Determine if the matrices are inverses. Why?

[27) &S i”?

/‘fé

| M




3x-y=12 ?

Write the matrix equations as a system of equations.
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Write the system of equations as a matrix equation.
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Write as a MATRIX EQUATION & SOLVE
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6. Jake 41 coins in his pocket, consisting of

nickels and dimes. The total value of the coins

is $3.25. How many of each coin does he have?
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